Reading Questions 8

page 94: example 3

page 95: theorem 2.4.9

1. If A= {8 cli} is invertible then a and d are both not 0. T
. 3 0] .
2. The determinant of A = {O 3} is5. ¥
3. Write down one way to determine if A = {CCL Z} is invertible. AC\' A %0 or rmg A= I.‘
or
Section 2.4 The Inverse of a Linear Transformation (Part rank A 22
2)

-2\
Inverse of linear transformation proofs ¥ A e xishs the "

P 1. Write down the inverse of the product of two invertible matrices A and B. ,~\ L [d‘ - '\ ?
= -c O .

. . detA
P 2.—Show that-the—tnverseof rmetrieAd-ietnique.  gge aoteS A
N

P 3. Find all matrices [CCL Z} such that ad — be = 1 and A~! = A. Here ad — be is called the
determinant of A. rrcg [A v T n '1

P 4. Write down the determinant of the following matrices. Explain how they are related. « N 4 ~b
= | In i danloe &

ol d e

These matrices are upper triangular, diagonal, and lower triangular matrices.
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1 4 4 1 20
P 5. Without using row operations, find the inverse of |0 2 1| given that |0 1 0 =
0 2 4 0 0 2
1 -2 0 10 217" 1 2/3 —4/3
0 1 O0]and |0 2 1 =1(0 2/3 -1/3].
0 0 1/2 0 1 2 0 -1/3 2/3
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Led A and B be werlNe  nxn modries, Then

x. AR = B7A

3. A s vl que
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Ley A ond be nAxn  maY¥rices SuEN M\'

BA = T . Then A and 2 asre 'sf\vc“\'\\o\t .
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— wTS Mok Ax = b has o uniQue sovtien  Jor all .
w e wi\\ ‘5\4\0\;4 A.;? = 407 oy o Uh.\(tu& 50\\)\:\0‘\ .

Fh—s\‘ A“Z =3 >0 AY 2o Noas o so\u\ior\.

Nex¥ | A :? :'Z we W.l\\ Show  Fhot 'T :'67 .

Then 6A—7 = ‘3.87 :T)’ =7 I-\_f:.;, =7 :?‘2;7
There Sore Ax =0 has o wumgque co\v¥ien o . Moreover

r‘—CS,‘ A= 1 =7 A 'mvc_rh\fa\c .
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Since A exis¥s  we have A =TI =7 OBAA = TA
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-\
=7 B:. A )
~A . . .
Gince A v mve:’n\)\t so0 Vs Q.



